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POLITICAL SCIENCE

( Honours )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following as directed (any ten) :
1x10=10
oo FEIERT Fok S Ted ft (R ciett webl)

(a) Who is known as the father of political
science?

e AT G & 315 @[ 28?2

(b) “Man is born free and everywhere he is
in chain”—said by Aristotle/Hobbes/
Locke/Laski.

“ylge FA @ A =F; e e B Rl
%I" a2 P CPfeEr 9B/ 236 /AT
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( Choose the correct option )
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(d)

(e)

(g)

(h)
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Th i

i epgﬁlt;:;oire.d approach to the study
Clence was origj i

UK/USA/France/India. s el

TS Rt e
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( Choose the correct option )

(== Sews iy Sferedt )
Legitimate POWEr is called ag
Aol ( Fill in the blank )
— I ot =y
(2R of o <=4t )

Name
One supporter of Post-modernism

LI R R CE IS LT iy Byt |

In i
ancient Greece, City-State was called
. c

( Fill in the blank
2B Sive TR PRI ‘Cafe l)
( <1 57 o w4 )
Name one libera] theorist

LQW@WT%@I&WW%W

( Continued )

( 3 )

(i) What is Liberalism opposed to?
Sria 52 [RaiiEst $?
(i) Totalitarianism
SIS
(ii) Authoritarianism
TN
(iii) Socialism
AW
(iv) All of the above
@I ARl

( Choose the correct option )

(wm Toa! AR Sfredt )

() Marxism regards State as a
e qge & & ©I|)?
(i) Natural institution
Aipfos AEl
(ii) Social institution
AES AE
(iii) Class institution
e g
(iv) Welfare institution
Fapleia A

( Choose the correct option )
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(k) Which one of the following is not a
hormative approach?

O G e/ mspaiare et 7292

(i) Philosophicai approach
AP e

(@) Legal approach
S e

(i) Systems approach
HANSNS 4fqery

(iv) Institutiona] approach
TREITS iy

( Choose the correct option )

(&= St <1 Shreat )

m

(§55%)

“Democracy is a govemment in which
everyone has a share.” Who said this?

“ajoreg 2R T i BRI 2lfeF IS Al
,ﬂm el AR @I et ?

(i) Abraham Lincoln
SR forReet

(ii) Dicey

e

(iii) Seeley
et

(iv) Bryce
EIEY

( Choose the correct option )

( wa TeIe! ik Sfe )

{l) NMQ
On€ post-behavioyralist. (o) Who is the author of the book,
BRI AL ERT ) The State and Revolution?
(m) Mary w The State and Revolution N9 F=I
ollst; : IS
feminist, stonecraft is 5 liberal/radical @2
er] 8
BiEiE Y F@‘Yﬂ:ﬂg QalIp W«ﬁ/mﬁ% (p) Name one scholar of participatory
Siifez | democracy.
( Choose the correct option ) LA NTSFI & ANy J fort |
(% Tawipi i sfreal )
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( 6 ) |
- () Did post-behaviouralism reject behav-
(@ Who wrote the book, Leviathan? iouralism?
Leviathan 9 =@ @ @i ? | S-SRI SR Ao PR

0 == ?

Menti :

al?sn;mn any one feature of behaviour-

21 15% (g9 What was the central thrust of
R R e <5 afkEy S 4| enlightenment project?

G e 3 gl R fe wife?

2. Answer ve

ry briefl i
five of the fOllowiri:g/ \.Nmte short notes on Egiys_,_lo (h) Mention two major devices of direct
AP Tag Ry ! democracy.
/7S Friphz f it <fora i
oY Gt fora ooy aTeEd T T W 2
(@) Menti '
) Mention two scopes of political science- (i) What is First Past the Post method?
IS Rz
T AR Sy w4t | S I3 @R e 57
(b) What is th
€ ﬁrst WavE Of f s = 2 . .
eminisms: () Michel Foucault

TR o2 @ o

(c) '

Name
tWo proponents of libertarianism-

N
|
Bri 3. Write short notes on any four of the following :
rng out the gex. 5x4=20

gender distinctions.:
AP oy oot PR R GG BIRGR @P1e B (Il -
ferat | SIF A R qrem g2 g s

(@)

(a) Class struggle

afoziPep oo @R e
A

(e)
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(b)

()

(@

(9)

(h)

(8 )

Elements of post-modernism

OSSO BoimimTz

Ch
allenges to the idea of democracy

Behavioural revolution

SR Ko

democracy representation 1

Featy .
T€s of historical approach

%m%m

Marx
on democracy

RRICvE | S Tk e

Tradit;
tional viey on politics

1O R g
D

( Continued /

4. Answer any four of the following questions :

(RE38)

10x4=40

o Tl e e SiGE s il

(@)

(b)

()

@)

A23/449

Define political theory. Discuss its main
features and dimensions. 3+7=10
amﬁﬂﬁ5$<5€<fﬁ@nﬁhn|?aFiﬁuﬁr&ﬁﬁva¢
frepTzd @IS SRl P9

What is liberalism? Make a comparative
analysis of classical and modern

liberalism. 3+7=10
S R SRS SF AigEE ST
a5t e It wife &

Attempt a critical appraisal of libertar-
janism and explain its key ideas.

eoge @Bl Wb U0l
STl S B e Qe o

10

Describe Marxist view of political
theory. How does it reject the liberal

view? 6+4=10

qefos ©E AW yoek I 9
% (@ET SR AR FE?
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(e)

(9)

(h)

A23/449

( 10 )

What is
an approach? What are th
e e

traditional i
political th S0 fodern ap
eory? proaches to
2+8=10

ST 31 7RCele
9
WWWWWWWWﬁ

Criticall
Y €xamine the main f,
eatures of

femlnl
sm.
What are the difF
ifferences

betWee
n li
iberal feminism Sad adical
radic

feminismp
S 54+5-10
S 4 aﬁw

T ST i o oo
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2 of democracy. D°

of de India ;
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Cr Successful model

acy? Ry
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(11 )

liberative theory of

ts key features.
4+6=10

What is the de
democracy? Discuss i

Wﬂq@a@ﬁ?ﬁﬁiﬁﬁf‘w
SicEel 9

s of procedural

rinciplé
e case of

discuss th
ocracy Vs: subs
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Examine the P
democracy and
procedural dem
democracy-

sifrare ql AAOT®
wmmﬁ@ﬁm
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